
MAT 250-0S 22F Tesi i Ansuers 

a) F= <t3 int- tcost, cust +ts1né> 

2t, (osf>sest tsiv,-sjtnt +trost 

<2t,tsint,tcol? 
t<2snt, ost>=V 

Smou all uwrk 
cludiey we nlal seps 
vfegns ghaw eralk sha anellahn, 

==K2, sit +twst, ost -tsint 

= K2, 1, 27 

b)S=Stau = VStdu= =6 
P 

LS(t=2 G 8 2.7586 2.7S863 

t2,3ut -[2,snt, tr> 
Sst 

) (H= <¥,, 
a=r() =(T, ,° 



MAT 2SDO-OS 22 Fest4 Ansuers (2) 

, m o= B> = l,2, 

-H = 2, 2, ,2,07 

N-B()* T/)= 2,07x340 
Mayle ,o,-1 

Note 0) o, a isq unt vechr only if C=t! 

( 15sT3 

numerator deary has ength V 4=S 
Soalso doviduy 

a untedur a(EfH-T(Ð = ),T) 
(VS 

(41 +) = = 

9p (2)= N( (D= <0,4-> (21,- = o+04 

raT 
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